4. St with  X=losind

Iy

-
hnd

|
dx = 10 (0sPdp g
4
/o(DSﬂ‘:'l) /00= K% Vioo-x*

(m‘-dx

f/o 056 10 cosh Ab
/oo j [05‘%/6’

= wp z’ f(/.,.(oﬂﬂ)/ﬂ

Sy
Sy

n

]

]

o ) (/+ (0526) AP

so [ 8 "G} Subceip) *¢

&0 dec Sin (—é—) *+ X (%)(
SO mc S’ﬂ(‘é) "‘(f)( M&) v

/

2

{//-*
P
> B




§ X+ ax . X= 4tonb I’;{,;/]X >
Ix =g sectdp AL

( wSech = X w16
gtmce 4 Sec26 4

= 6 SS'cc’MG U= Sech . dir= Secaedg)'
léth..(-)Scce f{«ea‘edoj i S_"‘GM‘@ P2t

= ¢ l_gec(aheogfcc(j (§F< (—76])](161 ‘
§Ccéd(7-“ ")(556( 3@6[61

= ){ [_ Sechmy —

_) A@S‘@F fecéfhe'\'
f Sec’édé 2_5&9{'«94- {]s«GHﬂJ@

-
Secx + Secxper

e gﬁcm{x (Socr tHr) CS — — I
! (Secx 4 by ) (Secx thr

..—) y

h 50:6 ‘Hk@]

__d._a—*; R 1|\.
.B_U ’(L:“.q-*‘zlhjdx;y‘fgf te




fx‘ﬁ——z‘- dx ﬂx

St @ith X=35ir6 [9-x*

3[0£§ = “ ?—X"

f? Siag 3 losf S wsbdb
= 8/ § Snp YA
8/ fs' (1-cos30 Y 1 +(os26) Y

] f (/- ws24)d?
= d’/f/ ~£ (] ws48))d

ZS(-% "51(0545']4/19
& (36 %m) 1

H

]

i

= 8/
T Hesn($)- ¢ 2251200006 +

I

8 goe n i) —
g #eoin(3) =2 g 2 Sbech( -5xF) +¢

2
= .%/ mcﬁ«(%)“%z?g)(@; (/- '{;f) *C




f:

/¢
ﬁ' 22Xt S

7
- f — _Jr
YCr%axt) +4
7
AX Y= X¥
YCx+1)? +4 Ay sd ¥

f I dy Y 2 Al e
a4 Ha= 3 Sec' 048 7
o . Rﬁ(?/é RS$ecd = || U 4« d
NSsed

§ J S&pqp {;A /*«9’* #&/E

ft

]|

N




